
I.D.:	52900905

piese	schimb	utilaje	agricole

Data
publicarii

21.12.20 Coduri	CPV 34913000-0

Pretul
estimativ:

3.761,74	RON	-	3.761,74	RON 	 	

Descriere: ROTOR	ALT.230978	1X336.13,	garn	irig	4''	20x4.2015,	arbore	ppa	ih	2391x27.73,	lant	cu	role
081	1x21.01,	sa	lant	2x3.36,	surub	ct	16x8015x4.202,	piul	cu	autp	m16	15x1.260,	grup
diode	1x42.02,	sim	35x55x10	2x6.72,	electrozi	3.25	sf	1x84.03,	disc	125x1.6	75x3.36,	cot
pompa	apa	al	u650	1x14.29,	su	m20x1.5x40	1x11.76,	su	m14x70x10.9	50x1.6806,	piul	cu
autobl	m14	50x0.8404,	su	m22x50	10.9	4x5.8825,	rulm	6205	skf	5x15.966,	lagar	tyavalug	as
6	x134.45,	ax	12101047	1x126.05,	ulei	t75	(20l)	2x142.855,	releu	incarcare	12v	1x31.09,	su
m16x80	10.9	8x4.2013,	petice	pp10	5x7.142,	releu	75613152	2x16.805,	ulei	t90(20l)
4x121,8475,	cam	155/132x21.01,	su	m6x50	10.9	50x0.42,	piul	m6	50x0.084,,	su	m8x50	10.9
50x0.84,	piul	m8	negre	50x0.21,	su	m10x50	10.9	50x0.84,	piul	m10	30x1.2606,	su	m12x50
10.9	36x1.26.06,	piul	m12	50x0.42.02,	covor	cauciuc	1.6mx35	2x63.025	,	petice	pp5
10.x4.202,	petice	pp3	3x1.68,	super	solutie	35	m6	/25	3x9.244,	degripant	caramba
2x15.966,	ulei	m40	(20l)	2x121.85


